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QUESTION 1

Which two objects are NOT included in a backup? (Choose two.) 

A. Tables 

B. Indexes 

C. External tables 

D. Simple blob data stored in simpleblobspaces 

E. Basic text search indexes stored in externaldbspaces 

Correct Answer: CE 

 

QUESTION 2

How does the Deployment Assistant enable you to reduce the size of the installation to be deployed? 

A. By limiting the size ofdbspaces. 

B. By removing specific databases. 

C. By removing specific product features. 

D. By removing all free space at the end of a chunk. 

Correct Answer: C 

 

QUESTION 3

Given the following SLA definition: 

SLA group_1=HDR+(inst_2+inst_3)+SDS 

How will new connections be routed through the SLA? 

A. Load balanced between all secondary instances. 

B. Load balanced between inst_2 and inst_3, then either HDR or any SD secondary instance. 

C. The HDR instance first, then inst_2, followed by inst_3, finally to any SD secondary instance. 

D. The HDR instance first, load balanced between inst_2 and inst_3, then to any SD secondary instance. 

Correct Answer: D 

 

QUESTION 4
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The user \\'guest\\' connected to a local database world@lsys and wants to execute the following query: 

What two permissions does the user \\'guest\\' need to access the remote table? (Choose two.) 

A. User \\'guest\\' must have SELECT permission on \\'globe\\' 

B. User \\'guest\\' must have CONNECT permission on \\'globe\\' 

C. User \\'guest\\' must have SELECT permission on \\'globe@rsys:position\\' 

D. User \\'guest\\' must have CONNECT permission on \\'globe@rsys:sadm.position\\' 

E. User \\'guest\\' must have RESOURCE permission on \\'world@lsys\\' 

Correct Answer: BC 

 

QUESTION 5

Given the SQL explain output of this star join query, which is the fact table? 

A. sales 

B. product 

C. region 
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D. customer 

Correct Answer: A 
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